N & 0l & At

20198 &= =0 &b L3I AH 23 AHR D

o o Al

=H o

A

AN 23 AS D
I NYols 2 (L3I /YP LA 2e])
©el: FES N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O| 3| At Tt 687,626 729,758 AN42,132
ANgos (L3 F/dydHdzel) 652,766 697,058 A44,292
oFgEs N 513,846 520, 356 26,510
oFZEs JlE3l 434,026 430,666 3,360
205 23l 394,426 391,066 3,360
01 ¥ &Sl 92,400 92,400 0
O2&FIz =8 & AFESH|
900,000 x7H «12& 75,600
OEXE st 200,000& x7H 128 16,800
02 g8+¢ 128,940 128,940 0
OF-FSE =, 1,535,000& x7H x12& 128,940
03 A= LHAHI 7,546 7,546 0
O23AANEH 5 d2J12 A3 A= (bl
91,0003 +x7H x5 3,185
oddiod & ¢y #xoE 068l
91,0003 7 »32 1,911
OXtifz2ll2 &=22d FRFH ol
70,0003 x7H x5 2,450
04 A =2 bl 19,600 19,600 0
O9&d 22 bl 2,800,000& »7H 19,600
05 B 2E =& 50,100 50,100 0
Od¥assd 53| 6,300,000 »7H 44,100
OB LEE R3S BS3HI
1,000, 000& 6 6,000
06 23l 2L =2 74,600 73,040 1,560
oo 2,300,000& x12& 27,600
ORoE 1,250,000 «12& 15,000
OadAJ AXE 800,000& »3H «12& 28,800
Ol At B L EE A S 800,000& x4 & 3,200
07 JAAZNLE(BSAE IMRE) 5,600 4,200 1,400
OXgod 2=t 800,000& x7&H x13] 5,600
09 S EEANREZ 7,000 6,600 400
O&= AIZXX72s A EAM FE3
7,000,000 7,000
1023 =20ASRES 3,600 3,600 0
OEdz 2¢3 75,0003 »4H « 128 3,600
MoAJ}AIRALRE S 5,040 5,040 0
OEgzg FE3 60,0003 x7H 12 5,040
304 H=RESS 39,600 39,600 0
03 @y RE= 39,600 39,600 0
OXRA ALEAZ (Ao, 2Y)
1,100, 000& #2401 & «50% 13,200

_1_




S OB AR D
A NYos 2 (UNBIUT/YHLAABL)

S ANES X8 CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXRA &l Ba3 (&)
1,100,000& 1204 & 13,200
ORD a6h B3 (XI2HI)
1,100,000& « 1204 & 13,200
oldEs Azget ¥ BEE 79,820 89,690 29,870
201 £B-2d| 74,820 86,690 211,870
01 At 2t 2|l 71,820 83,690 A 11,870
023 EHOIXN RXE=Hl 550,000& = 12& 6,600
093 3slod=E M= 200,000& 60 12,000
O2AFHAAX M 15,000& 6005 9,000
OAEE U 24 HA S29 HE
70,0003 30 2,100
O3z e A & 23 &#FFH 32, =
gt 2 50, 000& x10JH 53| 2,500
O AMNEEE 5 24| 200,000& »7H 1,400
OEFE Z2HX % =X MZE 10,0003 10004 1,000
OSzedd RII22F & ool 5 S22
PN/ ESgll 220,000& =104 2,200
OodE AaZe H= 2,000& 5005 1,000
Ogtgz2os =5 M
1,000 *35 *1,000% 3,000
Oodgs g8 &8s 550,000& *x243| 13,200
Oodgs JIs2eltl 15,060
OIHES JSAN BE 2
50,000& 16 800
Q¥ ES ISl AXQIS
2,000 *302 x10& 43 2,400
-ddls & A s SH4ES
200,000& x2H 253 10,000
Q¥Es ZIdE A8X +Y
3,000& 1000 =123 360
O¥Es EEE UL MH
25,0003 x5IH x12& 1,500
OXgols g™ A2 A Y
60,0003 »x7H 420
O9IRsl U Aolsl BALY
70,0003 x6H x23| 840
OfI98 2 HHASAA B0 HY Y
750,000& 2 1,500
03 A2 Z Hl 3,000 3,000 0
ONY AE2RH AIZ23 2AF 235 M
3,000,000& 3,000
301 L2 A F 5,000 3,000 2,000
01 MEIBEZE 053 5,000 3,000 2,000
Of % ZHEE AB=NANE 92
250,000 * 109 2 *23 5,000

-2 -




SN QS AR
HE: Xwols 2H(LYWDIHE/AUAHI L)

&2 gA2d X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
IM2E K& 138,920 176,702 N 37,782
o BRE 9& & 32,210 91,570 A 59,360
201 Let24d] 7,000 6,000 1,000
01 At 22/l 7,000 6,000 1,000
OxNg 2D Y]
700,000& x5 +23| 7,000
202 (4 Hl 24,010 21,110 2,900
01 = LH 4 di 10,010 8,610 1,400
OXNe SN2 DS 0t
70,000 x5 x4 1,400
OB YRFF o FlS&A Ol
70,000 *3H 2 x7 3] 2,940
OAlZ2 sl 2 & AZS| FANH
70,000 x5 32 1,050
oddogd « gl X0tz ol
70,0003 x5 10 3,500
O2 & MIDILE g FA0d
70,000& »4H x4 1,120
04 =X 204l 14,000 12,500 1,500
OdEZ23 ez 2H2 220
5,000,000& 5,000
Ogzessd 220l 3,000,000 »3H 9,000
405 RHoHF S HI 1,200 64,460 A 63,260
02 =M=l 1,200 1,200 0
O9slad & gl 10,000& x10& +12& 1,200
o EOHA 24 1,550 1,550 0
301 et a = 1,550 1,550 0
09 SArAHI 2 & 1,050 1,050 0
Oz&3 FAX =] 70,000& x15H 1,050
12 JIEtE &= 500 500 0
OHBANDLA L ZASQ E44
50,000& x10H 500
SE8X 23l2F 105,160 83,582 21,578
101 @124l 9,689 9,689 0
04 JI2tM 2 2 Xt 9,689 9,689 0
Oddz & OB £ AR 9,689
-2 68,000 x 19 6 H 7,752
k= 68,0003 24 1,632
MIBE = 9,384,000 x3.25% 305
201 LBt 64,431 64,653 N 222
01 At 22l 41,440 41,440 0




S OB AR D
A NYos 2 (UNBIUT/YHLAABL)

&2 gA2d X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ogaa & AJ3a SFItH =4l
300,000& »23| 600
Ogaa & AJsA S#AHY HS +<
500,000& »23| 1,000
OZdlal & A3 35 =& E =2H| 19,300
-SAD EEgHY 850,000 23| 25 3,400
-SAI EH HERIXN FE
250,000& *2CH 43 2,000
WA EH JtECXN FY
250,000& »2CH *23] 1,000
-ZElH EU JtECX 2L
250,000& +5CH 63 7,500
-SAD|, Z2lH, HA =M
200,000& 122 2,400
-SAEX 25,0003 * 10 A %128 3,000
ORz4 (9%, 29%) 2¢ 250,000 1228 3,000
OfIdsa & o3 24 500,000& »12& 6,000
OFdza & A 2 A2F P
100, 000& »7H 700
O za g & AFd H=E|
500, 000& »23] 1,000
OAFYL 27 S2X HAHI
8,000 x12H 90 8,640
O28X 1552 SdEZ 50,0002 =2CH«12& 1,200
02 324l 22,991 23,213 A 222
Oo&dE sUHEs ME= 100,000& = 12& 1,200
O=39z 2 2Jsa S&I1J KX 2
700,000& 35 2,100
OURXNE Zul(3tHet 8) KA 22l
500,000& *23| 1,000
OXnERIU & A4l 15,000
QlFE QM E sEX 9,000,000& 9,000
- X E SEX 6,000,000& 6,000
O2ZIE RE= 25 2= 873
-t ™ 330& *2,000% 660
-SJlsH 2,130& 1002 213
OABM U UM SMYS ABE
20,2403 x12& « 104 & 243
Ooddg 2Exegd Uskt EE82
700,000& »2[H 1,400
O Xt XHAl 1,150
QEFHE sEX 500,000& »23] 1,000
-2l o™ St 150,000& 150
OAFE SR BINM 223
25,0003 x13] 25
202 O4dl 9,240 9,240 0




AN 23 AS D
HE: X Yols SY(LYNBTHF/YYULHBR)
&2 gA2d X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 9,240 9,240 0
O°1% 2 SoIF 4S5 slolas 30l
70,0003 x2H +30 4,200
O%& zegs =80 70,0002 +6H~12 5,040
401 AIEHI L 2 CHYI 21,800 0 21,800
01 A& HI 21,800 0 21,800
OEZS MRA(BSE) =& ¢ HIYWH 3
A 21,800,000& » 14! 21,800
HY2AZ U (23 AFR D) (JIEH/DJIEL) 34,860 32,700 2,160
Jl2Z3l 34,860 32,700 2,160
JlE2&l 34,860 32,700 2,160
201 ¢4l 18,180 16,020 2,160
01 At 2t 2l 18,180 16,020 2,160
O2N2Y AR 22l 50,0003 x128 x12& 7,200
Ogaa ZIIudsE =8 720
RPNR=IPNDN 6,000& x5« 128 360
—-AH XA 6,000& x5F * 122 360
O & MR MUE, FUX =2 10,260
S 15,000& 155 128 2,700
-X Xl 10,0003 x24& x2S 128 5,760
-3 2t 15,0003 1052 122 1,800
202 04l 11,520 11,520 0
01 S LHOIYI 11,520 11,520 0
OBEHFLHUE J2YD =AY
80,0003 x12H 128 11,520
203 YR =] 5,160 5,160 0
02 R Jtatg R4 960 960 0
OIS R F= A 80,000& x12H 960
04 RFN2ELRZ=TH| 4,200 4,200 0
O3 AHR 1t 250,000& »12& 3,000
OFSE=E R b= 100,000& =128 1,200




